

West Visayas State University

SCHEDULE OF FEES

College: **COLLEGE OF PESCAR**
 Course: **BACHELOR OF PHYSICAL EDUCATION**
 School Year: **2025-2026**
 Semester: **First**
 Department: **College**



COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPED	1-A	170	23			Tuition	3,910.00	3,910.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						ENTRANCE FEE	50	50
						ID FEE	100	100
						PSYCHOLOGICAL TESTING	125	125
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
					CWTS 101/ LTS 101/ ROTC 101	CWTS FEE/ LTS FEE/ ROTC FEE	225	225
						TOTAL	7,090.00	7,090.00
						DOWNPAYMENT	3,545.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		7,090.00
						BALANCE	3,545.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPED	1-B	170	23			Tuition	3,910.00	3,910.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						ENTRANCE FEE	50	50
						ID FEE	100	100
						PSYCHOLOGICAL TESTING	125	125
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
					CWTS 101/ LTS 101/ ROTC 101	CWTS FEE/ LTS FEE/ ROTC FEE	225	225
						TOTAL	7,090.00	7,090.00
						DOWNPAYMENT	3,545.00	

						Less: FREE HIGHER EDUCATION (RA 10931)		7,090.00
						BALANCE	3,545.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPED	2-A	170	26			Tuition	4,420.00	4,420.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	7,100.00	7,100.00
						DOWNPAYMENT	3,550.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		7,100.00
						BALANCE	3,550.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPED	2-B	170	26			Tuition	4,420.00	4,420.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	7,100.00	7,100.00
						DOWNPAYMENT	3,550.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		7,100.00
						BALANCE	3,550.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPED	3-B	170	24			Tuition	4,080.00	4,080.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100

						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	6,760.00	6,760.00
						DOWNPAYMENT	3,380.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		6,760.00
						BALANCE	3,380.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPED	3-A	170	24			Tuition	4,080.00	4,080.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	6,760.00	6,760.00
						DOWNPAYMENT	3,380.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		6,760.00
						BALANCE	3,380.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPED	4-A	170	9			Tuition	1,530.00	1,530.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	4,210.00	4,210.00
						DOWNPAYMENT	2,105.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		4,210.00
						BALANCE	2,105.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPED	4-B	170	9			Tuition	1,530.00	1,530.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140

					AUDIO VISUAL	350	350
					CULTURAL ACTIVITY	140	140
					LIBRARY FEE	500	500
					MEDICAL / DENTAL	100	100
					PASUC Fee for Academic & Cultural Activities	100	100
					SDF	850	850
					TOTAL	4,210.00	4,210.00
					DOWNPAYMENT	2,105.00	
					Less: FREE HIGHER EDUCATION (RA 10931)		4,210.00
					BALANCE	2,105.00	-

Course: **BACHELOR OF CULTURE AND ARTS EDUCATION**
School Year: **2025-2026**
Semester: **First**
Department: **College**

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BCAED	1-A	170	23			Tuition	3,910.00	3,910.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						ENTRANCE FEE	50	50
						ID FEE	100	100
						PSYCHOLOGICAL TESTING	125	125
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
					CWTS 101/ LTS 101/ ROTC 101	CWTS FEE/ LTS FEE/ ROTC FEE	225	225
						TOTAL	7,090.00	7,090.00
						DOWNPAYMENT	3,545.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		7,090.00
						BALANCE	3,545.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BCAED	2-A	170	26			Tuition	4,420.00	4,420.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100

						SDF	850	850
						TOTAL	7,100.00	7,100.00
						DOWNPAYMENT	3,550.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		7,100.00
						BALANCE	3,550.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BCAED	3-A	170	24			Tuition	4,080.00	4,080.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	6,760.00	6,760.00
						DOWNPAYMENT	3,380.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		6,760.00
						BALANCE	3,380.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BCAED	4-A	170	15			Tuition	2,550.00	2,550.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	5,230.00	5,230.00
						DOWNPAYMENT	2,615.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		5,230.00
						BALANCE	2,615.00	-

Course: **BACHELOR OF SCIENCE IN EXERCISE AND SPORTS SCIENCES MAJOR IN FITNESS AND SPORTS COACHIN**
School Year: **2025-2026**
Semester: **First**
Department: **College**

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BSESS-FSC	1-A	170	17			Tuition	2,890.00	2,890.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250

						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						ENTRANCE FEE	50	50
						ID FEE	100	100
						PSYCHOLOGICAL TESTING	125	125
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
					CWTS 101/ LTS 101/ ROTC 101	CWTS FEE/ LTS FEE/ ROTC FEE	225	225
						TOTAL	6,070.00	6,070.00
						DOWNPAYMENT	3,035.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		6,070.00
						BALANCE	3,035.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BSESS- FSC	2-A	170	20			Tuition	3,400.00	3,400.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	6,080.00	6,080.00
						DOWNPAYMENT	3,040.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		6,080.00
						BALANCE	3,040.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BSESS- FSC	3-A	170	18			Tuition	3,060.00	3,060.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100

						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	5,740.00	5,740.00
						DOWNPAYMENT	2,870.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		5,740.00
						BALANCE	2,870.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BSESS-FSC	4-A	170	15			Tuition	2,550.00	2,550.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	5,230.00	5,230.00
						DOWNPAYMENT	2,615.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		5,230.00
						BALANCE	2,615.00	-

Course: **BACHELOR OF PERFORMING ARTS (DANCE TRACK)**
School Year: **2025-2026**
Semester: **First**
Department: **College**

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPEA	1-A	170	17			Tuition	2,890.00	2,890.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						ENTRANCE FEE	50	50
						ID FEE	100	100
						PSYCHOLOGICAL TESTING	125	125
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
					CWTS 101/ LTS 101/ ROTC 101	CWTS FEE/ LTS FEE/ ROTC FEE	225	225
						TOTAL	6,070.00	6,070.00
						DOWNPAYMENT	3,035.00	

						Less: FREE HIGHER EDUCATION (RA 10931)		6,070.00
						BALANCE	3,035.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPEA	2-A	170	23			Tuition	3,910.00	3,910.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	6,590.00	6,590.00
						DOWNPAYMENT	3,295.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		6,590.00
						BALANCE	3,295.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPEA	3-A	170	21			Tuition	3,570.00	3,570.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100
						PASUC Fee for Academic & Cultural Activities	100	100
						SDF	850	850
						TOTAL	6,250.00	6,250.00
						DOWNPAYMENT	3,125.00	
						Less: FREE HIGHER EDUCATION (RA 10931)		6,250.00
						BALANCE	3,125.00	-

COURSE CODE	YEAR LEVEL	TUITION UNITS	NO. OF UNITS	SUBJ W./LAB		INCOME ACCOUNT	BR05	FE18
BPEA	4-A	170	15			Tuition	2,550.00	2,550.00
						Dynamics Publication_COP	100	100
						COP Student Council	250	250
						Forum Dimension Publication Fee	75	75
						USC Membership Fee	50	50
						Insurance Fee	25	25
						ATHLETICS	140	140
						AUDIO VISUAL	350	350
						CULTURAL ACTIVITY	140	140
						LIBRARY FEE	500	500
						MEDICAL / DENTAL	100	100

					PASUC Fee for Academic & Cultural Activities	100	100
					SDF	850	850
					TOTAL	5,230.00	5,230.00
					DOWNPAYMENT	2,615.00	
					Less: FREE HIGHER EDUCATION (RA 10931)		5,230.00
					BALANCE	2,615.00	-

Note: Tuition and Laboratory Fees may increase for additional subjects that will be offered by each college.

Certified Correct:

MARISSA S. ANTONILLAS
Chief Accountant

Noted By:

JASMIN L. VARGAS
Chief, Finance Division

Approved:

PETER ERNIE D. PARIS
VP for Admin & Finance